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SECTION 1

Question 1

award marks as follows:

e Select the most correct items up to a maximum of 5
e Award 1 mark for each correct item up to a maximum of 5

candidate could find in a hotel.

Candidates are required to list 8 items in Arabic. Read all the items the candidate has listed and

NB the pictures provided on the question paper are only suggestions. Accept any item the

Generic mark scheme for Question 1

° Answers should be marked for communication. Tolerate inaccuracies, provided the message is

clear:

(a) ‘If in doubt, sound it out’: if you read what the candidate has written, does it sound like the

correct answer?

(b) Look-alike test: does what the candidate has written look like the correct answer?

(c) lIgnore any article.

Session-specific instructions for Question 1: (3dl) u—" Laas Al e Ly

° The following are examples. Accept any item the candidate could find in a hotel.

ACCEPT
o e W ol
S 458N
Gamla [ gnaS b [ (5 8l
b /32l FEQ!
T A
dxiaa G [ sy [ b
s gl [ sl
aSa A [
L) a5 Ol
05l [ st A &
dal ) ad e
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Total for Question 1: 5 marks




Question 2

Candidates are required to answer the question. Read the whole answer and award marks as f

e Communication: award a mark out of 10, according to the instructions in 2.1
e Language: award a mark out of 5, according to the instructions in 2.2.

2.1: award a mark out of 10 for Communication

Generic mark scheme for Communication (Question 2)

(i) Place the appropriate ‘numbered’ tick as close as possible to each relevant communication
point.

(i) Award ticks flexibly across the tasks for each piece of relevant information conveyed,
up to a maximum of 10. HOWEVER, each of the 3 tasks must be covered to get the 10
communication marks:

* If 1 of the tasks is missing, the maximum communication mark is 9.
* |f 2 of the tasks are missing, the maximum communication mark is 8 (and
SO on).

(iii) Add up the ticks to give a mark out of 10 for Communication.

(iv) For COMMUNICATION, be tolerant of verbs/tenses/spelling (for spelling, use ‘rules’ in
Question 1: look alike, sound alike, etc.).

(v) LISTS = a maximum of 3 marks for Communication: lists of 1-3 items = 1 mark; lists of 4
items = 2 marks; lists of 5—6 items = 3 marks

(vi) Only reward each piece of information once.

(vii) Do not penalise factual errors.

Total marks for Communication: 10

Session-specific instructions for Communication marks (Question 2): > e

Tick | Accept
1

¢)ilaly Sl Dua sy Ladla Jiiad of cad Ja
ACCEPT: ‘yes’ or ‘no’ or ‘don’t know’
ACCEPT: reason why/why not even if not clear whether or not they like to celebrate their

birthdays.
As long as either is given, consider task complete.

2 fhale Abla ey JEiaT CisS
REWARD: any form of description: e.g. anything about how the candidate celebrates
his/her birthday — place, date, guests, clothes, food, activities, etc.

ACCEPT: “l do not celebrate my birthday.”

3

filalg a8 IDLe 1o LB Ly S L) Lagh L
REWARD: any gift that the candidate wants to receive.

ACCEPT: reason why candidate wants the gift even if not clear which gift he/she wants.
As long as either is given, consider task complete.
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2.2: award a mark out of 5 for Lanquage

Generic mark scheme for Language (Question 2):

* Award a mark out of 5 for Language, according to the Grade descriptors in the table below
(see Note on using mark schemes with Grade descriptors (last page of mark scheme)):

Grade descriptors for Language (Question 2)

5 Straightforward vocabulary and structure.

The style of writing is basic, but reasonably coherent.
Use of a limited range of verbs, generally successful.
More accuracy than inaccuracy.

4 Basic vocabulary and structure.
Some awareness of verb usage, but inconsistent.
The writing is sufficiently accurate for meaning to be conveyed.

3 Very basic vocabulary and structure.
Little awareness of verb usage (e.g. infinitives regularly used instead of finite verbs).
Despite regular errors, the writing often conveys some meaning.

2 A few phrases or short sentences are accurate enough to be comprehensible.
Very simple sentence structure.

1 Disjointed words or short phrases, one or two of them accurate enough to be
comprehensible.

0 One or two disjointed words or short phrases may be recognisable.

Total marks for Language: 5

Total for Question 2: 15 marks

© UCLES 2013
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SECTION 2

Question 3

Candidates answer 1 question from a choice of 3. Read the whole answer and award marks a
follows:

¢ Communication: award a mark out of 10, according to the instructions in 3.1

e Language: award a mark out of 8 for Verbs, according to the instructions in 3.2
award a mark out of 12 for Other linguistic features, according to the
instructions in 3.3.

3.1 — award a mark out of 10 for Communication

Generic mark scheme for Communication (Question 3):

(i) There are 5 relevant communication points per question, each worth a maximum of 2 marks.

(i) For each relevant communication point, use the appropriate numbered tick and place up to 2 of
these ticks as close as possible to each relevant communication point.

2 ticks Message clearly communicated. Minor errors (adjective endings, use of
prepositions etc.) are tolerated.

1 tick Communication of some meaning is achieved, but the message may be
ambiguous or incomplete.

0 ticks Nothing of worth communicated.

(iii) Add up the ticks to give a mark out of 10 for Communication.

Total marks for Communication: 10

© UCLES 2013 [Turn over
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Generic guidance on awarding ticks for Communication

Example 1: $aale dllall ol oafi (i

Candidate’s response Ticks for Reason for mark
Communication
el Caiad axd 0 Nothing of worth communicated.
-«;’T o b ’5 2 U 1 §ome meaning conveyed — use of
) ) Jaxt makes message ambiguous.
. ‘;j i A e 2 Message clearly communicated.

Example 2: (s aa 5 Gl s Qj

Candidate’s response Ticks for Reason for mark
Communication

cBenill il (e e 0 Nothing of worth communicated.
el 8 3lnll cuald 1 Some meaning is conveyed but the

message is incomplete.

2 Message clearly communicated.

© UCLES 2013



Session-specific instructions for Communication marks (Question 3):

7

Place up to 2 ‘numbered’ ticks as close as possible to each relevant communication point:

2 ticks Message clearly communicated. Minor errors (adjective endings, use of prepositions
etc.) are tolerated.
1 tick Communication of some meaning is achieved, but the message may be ambiguous

or incomplete.

0 ticks Nothing of worth communicated.

*  Question 3(a): Letter to newspaper about council’s proposal to close library

Tick

Accept

Mark

1

Description of what candidate did last week at the library

Insist on past tense
Do not insist on mention of ‘last week’

Description of what candidate did last week at the library

Insist on past tense
Do not insist on mention of ‘last week’

Candidate’s opinion of the library
Allow anything sensible

Candidate’s opinion of the decision to close the library
Allow anything sensible

What will happen if the I|brary is closed

(Allow future and condltlonal for communlcatlon)

e Question 3(b): Article for school website about summer holiday spent working in an office

Tick | Accept Mark

1 Description of the job the candidate did in the holidays 2
Insist on past tense

2 Description of the job the candidate did in the holidays 2
Insist on past tense

3 The advantages of working in the holiday 2
Allow anything sensible

4 The disadvantages of working in the holiday 2
Allow anything sensible

5 Which job the candidate would like to in future 2
job + of ol i) b
(Allow future and conditional for communication)
Allow: ... Jael of & 58
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*  Question 3(c): Description of first day at new school

8

Tick

Accept

1

Description of the lessons
Insist on past tense

2 Description of break time
Insist on past tense
3 Third communication mark to be awarded flexibly for extra detail relating to either
of first two bullet points in the question
4 Reaction to the experience
Expect opinions/emotions
Do not insist on past tenses. Allow the meaning of ‘l was.../It was.../l am.../Itis...’
5 Extra detail on the reaction to the experience

Expect opinions/emotions
Do not insist on past tenses. Allow the meaning of ‘l was.../It was.../| am.../Itis...

© UCLES 2013
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3.2 — award a mark out of 8 for Accurate use of verbs

Generic mark scheme for Accurate use of verbs (Question 3):

(i) Place atick above the first occurrence of each correct verb, up to a maximum of 18 ticks (detail

of how to award ticks are provided below).
(i) Convert the total number of ticks to a mark out of 8 using the Conversion table below.
Conversion table for Accurate use of verbs (Question 3)
Number of ticks Mark

18+ 8

16,17 7

14,15 6

12,13 5

10,11 4

8,9 3

6,7 2

4,5 1

0,1,2,3 0

Total marks for Accurate use of verbs: 8

e How to award ticks for Accurate use of verbs (Question 3):

(a) Subject (noun or pronoun) + any finite verb
e both subject and verb must be correct for the verb to score a tick
e verb must be in the appropriate tense to score a tick
* inaccuracies in the writing of hamza (s)
e do nottick verbs contained in the ‘letter etiquette’: appropriate beginnings and endings
to letters are considered for reward under Other linguistic features.

Tick No tick Note

2 2

(V) Coaly (V) Caali o(v) Ceall

(v) Caad ((v) Casal ¢(v) Casal

(V) Osdae Al (no tick) (ysaaa 3l | incorrect spelling of subject

o(v) Sl o(v) il Cagm
(V) da )l 8
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Singular verb used correctly with the following plural noun subject

10

Tick

No tick

Note

NN (v)

N NI (no tick) | sl

(V) Vsl Y Y (v) Js

Feminine singular verb with non-human plural

Tick No tick Note
Sl (V) G Sl (no tick) ) sxaw
Compound verbal expression
Tick No tick Note
(V) i oS
With negative
Tick No tick Note
Al ) (v) S o a4k ol (no tick) A S
Verb with appropriate possessive pronoun suffix
Tick No tick Note
(v) ol & [ (v) sl
Correct verb within meaningless statement
Tick No tick Note
. ’ . . : | do not reward correct verb in
dalal Al (v) S Suall Al (no tick) JSI | 5 meaningless statement

© UCLES 2013



(b) Imperative

11

Tick No tick
(v) oualdY ¢(v) Jas
(¢) Infinitive
Tick No tick

(v) «ad o (v) 2

(no tick) caXi of (v) x )

(d) Reward only the first occurrence of a verb, e.g.

© UCLES 2013
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3.3 —award a mark out of 12 for Other linguistic features

Generic mark scheme for Other linguistic features (Question 3):

(i) Award a mark out of 12 for Other linguistic features, according to the Grade descriptors in th
table below (please see Note on using mark schemes with Grade descriptors (last page of mark
scheme)):

Grade descriptors for Other linguistic features (Question 3)

11-12 | ¢ Uses a wide range of structures effectively; produces longer, fluent sentences with
ease.

* Highly accurate at this level, though not necessarily faultless.

* Makes effective use of a wide range of vocabulary fully appropriate to the task.

9-10 |+ Attempts a range of structures with a good degree of success.
e  More complex language usually error-free.
e Uses a variety of relevant vocabulary at this level.

7-8 |+ In control of simple structures. Varied success with more complex structures.

* Accuracy is fairly consistent throughout. Errors may occur when more ambitious
language is attempted.

* Has sufficient vocabulary to add some interest to the writing.

5-6 |+ Attempts more than basic structures.
e On balance, the work is more accurate than inaccurate.
e  Straightforward vocabulary relevant to the task.

3-4 |+ Reliant on basic structures.
e Some examples of correct language. Meaning usually conveyed.
e  Basic vocabulary.

1-2 |+ A few phrases or short sentences are accurate enough to be comprehensible.
Very simple sentence structure.

0 e One or two disjointed words or short phrases may be recognisable.

(i) Consider the extent to which the following are used correctly and appropriately when assessing
the candidate’s control of structures:

* Adjectives, including possessives and demonstratives. Also comparatives and superlatives

Pronouns other than subject pronouns, e.g. object pronouns (4 J& / 1 J& and
demonstrative pronouns (s3a [ 1)

* Negatives

* Interrogatives

* Use of correct iDaafa construction

e  Linking of nouns with — in quasi-possessive construction

 Case endings for dual ((x / )

e Case endings for sound masculine plural ((» / 09)

e Use of broken plural

* Use of accusative alif (i)

© UCLES 2013
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* A variety of prepositions and adverbs (except h;)

e  Expressions of quantity time and numbers
e Linking words (Ja JS Je <aall ¢ sl etc.) and conjunctions other than

 Subordinate clauses, including ¥ ¢«gd) ¢ A (relative pronouns). Indirect or reported
speech (<lld Gl «elly JB), Time clauses with Lexie <laiy etc. and 13

*  Appropriate use of politesses in the letter.

Total mark for Other linguistic features: 12

Total for Question 3: 30 marks

© UCLES 2013 [Turn over



14

Note on using mark schemes with Grade descriptors

It is important that you award marks positively. In order to ensure that you reward achieveme
than penalise failure or omissions, you should start at the bottom of the mark scheme and work up
through the descriptors when awarding marks.

You should adopt a ‘best fit' approach. You must select the set of descriptors provided in the mark
scheme that most closely describes the quality of the work being marked. As you work upwards through
the mark scheme, you will eventually arrive at a set of descriptors that fits the candidate’s performance.
When you reach this point, you should always then check the descriptors in the band above to confirm
whether or not there is just enough evidence to award a mark in the higher band.

For example, when marking Question 3 you may find that a candidate uses a variety of relevant
vocabulary but has varied success with more complex structures. In such cases, you will need to award
a mark that takes into account both the strengths and weaknesses of the piece of work.

To select the most appropriate mark within each set of descriptors, use the following guidance:

* If most of the descriptors fit the piece (and after you have considered the band above), award the
top mark in the band.

* If there is just enough evidence (and you had perhaps been considering the band below), award
the lowest mark in the band.

Note on irrelevant material

In the case of a deliberately evasive answer which consists entirely of irrelevant material exploited in
defiance of the rubric, a score of 0 is given. These are extremely rare. The genuine attempt to answer
the question which fails due to a misunderstanding of the rubric will normally lose Communication
marks but will score for Language. You should consult your Team Leader.

When part of an answer is clearly irrelevant, highlight it and do not consider it when deciding on the
Language mark. (e.g. Highlight, and do not consider for Language, an introduction to a question
consisting of an unwanted self portrait on the lines of:

“HGAQ&.\ c:\juéﬁac&ud).«c ¢daal GA...»\ c):\ﬂ\cl_}m”

or letter etiquette where a letter is not required.)
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